29 5T 1 £ \Guddo: UMl 50
(L

(C.-v:f 7 g = '
T3 gie) JETESK i b T

 sier dCU/U,,,-_-nl) ¢ ) LA

Ja::nbusl"." :-"J;-J&D/t
| dcc’_&(juwl)mx )
L.
‘ 4 2 UY) i
(,A!,” at) (h!"‘"_ ) ‘B -k-,u-qh:":.f.*""*‘
(=T) |
> A T
e W ?‘h“sf(al ﬁu{u'n W= W

i ﬂwébdwrdg; PIw=w)=Yyolt



:'M"‘\'_}J’J/;L:f‘-}

C.‘\ame_\ A_
w .Xn y
mes51) € Entadey | — y\x f_’ De et —-—}
weW = g_""'rl"') A] P —-.J";x; W, W 1 pF

/dr Vo oa— JYU 7 &5 (SF0080 S F 4

C = MAY -
(entodec) M —l—"“:‘/’;‘:,ﬂulﬂfd‘?} 77

Jdeuz)

“ r
vr Yl sl X ik’ JHor st <2 - e

X!




L1 . — L
it .\Jdﬁ!’qq‘“-ﬂ' X smrsWit F".‘/-f: -,(:..J‘j;(} Cmp
W) sy 51 r-;'!.”_{':j QY\I J"S/L]U-'I:L—
Gy M= PLY=31x=x]
DL GG @ @ T ih e IE skl

Q;d' = R{r=y Ix=1)

IMHH:‘
gSCip) : L %\mvu Symmeric \ )Uft.":‘,kj;:wﬂ'(;dt,*

y ><-, A Qz[:? m;]

|



/s

-—

—
 (DAC) ( Oscrrte Memmlers Y(1te o d JEO) or i
anne|

~ | - - a2 2
),}! d“" ( X\C &_‘JMQ@’J’J’U-’ ‘[:‘_.Fr‘-': g e yl( c_;‘:P F.f'.r-*
.._'----JG':-" (J;\JEL}:"; P-J?\J‘oﬁj’f-’ 'k..f'ﬂ t:,-';:.;’)

E [Y‘(’- 7'-3"‘ ‘ X\ ="y, -“’}(ktxk 2 \/1‘-"7\ 2" yh-l ‘,hr ]

= ® L YV= IX %]

A dt’D’.E?_}uml)-’-:iF; o pt

Copo= Max T (X;Y) = max ) 1 Px, U‘ﬂLJ Pry (:3)

Pyt ef G- QVU‘( 311)

M\

)

T AN STORIIN- P S s

X




Ve i L .-.::--’
sEFNEV 5021 #om 5 T8 50 o F Vo ;i
St CALBISR Gl i A
’ = .
'c_ﬁtﬁfr&)ﬁr’&;ﬁl\.))ﬁ&lk PR AL OV TNLAR

Y
"lbtha\”\t ¢ X —-y’fn(d{ef ——?:G;')C“:IL : (?-:%)deg"
N={w1) o
= 1) L bb, L;HY‘. Yy 1y

b 9"1@5 k
L, @ b3 @"'tr
by by @ by




S LE I L

— P e e sA b I U

1

C-rn& | “;: .S-U(?\j‘) T 'F‘;:t-[ H(Y) “H}ﬁo’]

T | O e S >/ hemel use

oY) s Xeswe "‘"‘”fF”'

ﬁ:,‘n-(i

ks

';_

(L




Va 4 O L2

A Ve 3 I
\, O
4

Cinp, = ™ax 7 = mMa - /
£t T (X;Y) ?;[Hm H( \/ﬂ

X

= ma)y \-\k){) = ﬂ, "f‘r/';
Fx Tz
f, ol T

k-mg] ufe




kPP egt JEY 3 06

/A ", A }
x 6§ . B db’olij i;UJ/;,t_.,m,_) (__53!”(’;)"-"
/¢ . C G T ot
X O . } 0 3/i) >
5 € 0 ,!;5113

. m.-)':’(ullb1 C:JFJ*::-'
, T % 2

=4
CH' S rﬂ?ﬂ l(x;y) = “?"* Y_H(‘ﬂ* H(Y\xﬂ
X

X
H(YIX="A") = -)111}4 ~yhYy-=1
wa‘xu"Z’) =1

= Hox)e ) H(Y\X=) AR Y Pw=1-
Kex Xey




C;,,, < o 'S_ ) =
b e (%3 y)

HYLX=R") = 34 -%4)-1

Hiylx=2") =1

= K (YIX):
J'tg.‘)(

):H(Y\X-—-w) 'F”( (W= ) PXL!) =9 ~

=1
. LHO)- H (X))
X

Xex

\ \
W) g b 1) cprer s

= by 16




